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Performance Evaluation of Design/Build Projects

Student : Pei-Chun Chang Advisor : Dr. Wei-Chih Wang

Department of Civil Engineering

National Chiao Tung University

Abstract

Design/build(DB) delivery method is increasingly used in Taiwan due to numerous
advantages it can offer a project. Numerous studies have advocated the use of design/build
over the traditional design/bid/build delivery approach. The study first collect 1272 public
Design/build projects and about 60000 public D/B/B projects. The performance makes the
analysis by quality cost and schedule. This research analysis performance of public D/B and
public D/B/B projects by using chisquare test and log-linear modal. The analysis mainly to
be directed against change cost and change schedule by using log-linear modal to confirm
facters’s relation . The analysis results has'to assist contractor making the decision and realize

the performance of Design/build projects in Taiwan -

Key words : Design/build - performance - chi-square test - log-linear modal
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